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QUESTION NO: 1

Which two network topologies would support SnapMirror data replication from Cloud Volumes ONTAP for Azure to Cloud 
Volumes ONTAP for AWS? (Choose two.)

A. Virtual Private Cloud –> AWS Transit Gateway

B. cloud provider –> cloud provider VPN

C. cloud provider –> on-premises –> cloud provider VPN

D. Virtual Private Cloud (VPC) –> Azure Virtual Network (VNET) peering

ANSWER: B C 

QUESTION NO: 2

Click the Exhibit button.

Your Cloud Volumes Service export is mounted on a Red Hat Enterprise Linux instance. You can view a top-level directory 
listing, but you cannot create files.

Referring to the exhibit, what is the IP address of your Red Hat Enterprise Linux instance?

A. 10.0.1.6

B. 10.0.0.0
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C. 10.0.1.0

D. 10.0.2.6

ANSWER: D 

QUESTION NO: 3

Your customer is using Google Cloud Interconnect to access a StorageGRID S3 bucket from applications running in Google 
Cloud Platform (GCP). From the private cloud router, the customer can ping any instances behind the GCP Virtual Private 
Cloud (VPC), but the return traffic is not routed correctly. The private cloud gateway has been defined correctly within GCP.

In this scenario, which network setting should be investigated to help your customer solve the issue?

A. the CIDR blocks configured on the Cloud Interconnect

B. the maximum transfer unit (MTU) settings on the private cloud routers

C. the Border Gateway Protocol (BGP) parameters on the private cloud routers

D. the VLAN configuration on the private cloud switches

ANSWER: A 

QUESTION NO: 4

You have deployed Cloud Volumes ONTAP into your Azure vNet. However you are unable to access the instance from your 
on-premises workstation. You verify that the provisioned Network Security Group on the instance is configured to allow 
access from 0.0.0.0/0. In this scenario, what would be three reasons for this problem? (Choose three.)

A. There is a restricted Network Security Group on the subnet.

B. There are routing restrictions to the Azure vNet.

C. There is no connectivity to the Azure vNet.

D. There is a restricted Network Security Group on Cloud Manager.

E. There is a Network Security Group on the gateway.

ANSWER: A B D 

QUESTION NO: 5

You are using a NetApp HCI and are asked to perform offsite backups of all data.
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Which three targets satisfy this requirement? (Choose three.)

A. Azure Blob

B. Amazon S3

C. Amazon Redshift

D. Element software

E. ONTAP 9.5

ANSWER: A B E 

QUESTION NO: 6

You deploy a pay-as-you-go instance of Cloud Volumes ONTAP. You have an issue and try to raise a support case with 
NetApp, but your instance cannot be found.

In this scenario, what caused this problem?

A. Your instance is tagged to an unsupported availability zone.

B. Your instance has not been linked to your NetApp Support account.

C. Your instance naming convention does not meet standards.

D. Your instance does not have AutoSupport enabled.

ANSWER: D 

QUESTION NO: 7

You are the administrator for your company’s public cloud infrastructure. Your Cloud Volumes ONTAP systems are working 
properly, ensuring that all users can access the data services that the systems provide. Performance and health data is not 
being reported to NetApp for support. You want to ensure that Cloud Volumes ONTAP can send AutoSupport messages to 
NetApp.

In this scenario, which routing and firewall policy must be configured to ensure proper access to ActiveIQ?

A. outbound access to HTTP/HTTPS mysupport.netapp.com

B. outbound access to HTTP/HTTPS activeIQ.netapp.com

C. outbound access to SMTP activeIQ.netapp.com

D. bidirectional access to HTTP/HTTPS mysupport.netapp.com
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ANSWER: A 

QUESTION NO: 8

When creating iSCSI LUNs on Cloud Volumes ONTAP, which two statements are true? (Choose two.)

A. You must ensure that you have an aggregate with sufficient space.

B. The Host Utilities should be installed on the host.

C. You must have already created an igroup for the LUN.

D. The Host Utilities must not yet be installed and will be configured from System Manager.

ANSWER: A C 

Explanation:

Reference: https://docs.netapp.com/us-en/occm36/task_provisioning_storage.html

QUESTION NO: 9

Your company has purchased a NetApp HCI. You are asked to deploy HA file services out of the NetApp HCI system. Which 
two actions accomplish this task? (Choose two.)

A. Use ONTAP Select Deploy.

B. Provide an ONTAP Select license file.

C. Provide an ONTAP cluster base license key.

D. Select “Yes, I want to enable File Services” on the NetApp Deployment Engine.

ANSWER: A B 

QUESTION NO: 10

Click the Exhibit button.
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You are troubleshooting a failed SnapMirror relationship between two Cloud Volumes ONTAP instances. The source is 
Azure, and the destination is AWS.

Referring to the exhibit, which connection endpoints need to be verified?

A. AWS VPC and on-premises network

B. OnCommand Cloud Manager and Azure VNet

C. AWS VPC and Azure VNet

D. OnCommand Cloud Manager and AWS VPC

ANSWER: B 

Explanation:

Reference: http://197.253.9.244/ontap%209-5/DATAPROT/2_Student%20Guide/STRSW-ILT-DATAPROT-
REV07_StudentGuide.pdf (258)
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